
Numbers in context 
TRANSCRIPT: 
 
Slide 1: 
Niizh waashkeshiwag imaa noopoming. – Two deer are in the woods. 
Niiwin waaboozoog imaa noopoming. – Four rabbits are in the woods. 
Aaniin minik awesiwag imaa noopoming? – How many animals are in the woods? 
Ingodwaaswi awesiwag ayaag noopoming. – Six animals are in the woods. 
 
Slide 2: 
Niizh waashkeshiwag wiisiniwag. – Two deer are eating in the woods. 
Bezhig waashkeshi minikwe onji-ziibiinsing. – One deer is drinking from the stream. 
Aaniin minik waashkeshiwag ayaag? – How many deer are there? 
Niswi waashkeshiwag. – There are three dear. 
 
Slide 3: 
Naanan abinoojiiyag odaminowag. – Five children are playing. 
Niizh abinoojiiyag nibaawag. – Two children are sleeping. 
Aaniin minik abinoojiiyag imaa? – How many children are there? 
Niizhwaaswi abinoojiiyag. – There are seven children. 
 
Slide 4: 
Siipiising izhaawag niizh ikwewag. – Two women are going to Belcourt. 
Mikinaak Ode izhaawag niswi ikwewag. – Three women are going to Dunseith. 
Aaniin minik ikwewag izhaawag imaa Mikinaak Ode? – How many women are going to 
Dunseith? 
Niswi izhaawag imaa Mikinaak Ode. – Three of them went to Dunseith. 
 
Slide 5: 
Waabooz amwag niiwin opiniig. – The rabbit is eating four potatoes. 
Wiiba noongom awe waabooz gii-amwa bezhig opin. – Earlier today that rabbit ate one 
potato. 
Aaniin minik opiniig gii-amwaad awe waabooz? – How many potatoes did that rabbit eat? 
Naanan opiniig. – Five potatoes. 


